
Notes:  Derivatives Of Trigonometric Functions                 Derivatives Day 5 
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𝑑𝑥
[𝑠𝑖𝑛𝑥] =___________ 

𝑑

𝑑𝑥
[𝑐𝑜𝑠𝑥] =___________ 

𝑑

𝑑𝑥
[𝑡𝑎𝑛𝑥] =___________ 

𝑑

𝑑𝑥
[𝑐𝑜𝑡𝑥] =___________ 

𝑑

𝑑𝑥
[𝑠𝑒𝑐𝑥] =___________ 

𝑑

𝑑𝑥
[𝑐𝑠𝑐𝑥] =___________ 

 

 

 

 

 

 

 

 

 

Example 1:  Prove 
𝑑

𝑑𝑥
[𝑡𝑎𝑛𝑥] = 𝑠𝑒𝑐2𝑥 

 

 

 

 

 

 

 

Example 2:  Prove 
𝑑

𝑑𝑥
[𝑐𝑠𝑐𝑥] = −𝑐𝑠𝑐𝑥𝑐𝑜𝑡𝑥 
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Example(s) 3: 

A.  𝑓(𝑥) = 𝑐𝑜𝑠𝑥      find  𝑓′ (
5𝜋

6
)= 

 

 

B.  𝑓(𝑥) = 𝑡𝑎𝑛𝑥      find  𝑓′ (
3𝜋

4
)= 

 

 

 

C. 𝑓(𝑥) = 𝑠𝑒𝑐𝑥      find  𝑓′(𝜋)= 

 

 

 

Example 4:  Find the equation of the tangent line for 𝑓(𝑥) = 𝑥𝑠𝑖𝑛𝑥  at   𝑥 =
𝜋

3
. 

 

 

 

 

Example 5:  𝑓(𝑥) = 𝑐𝑜𝑠2𝑥    Example 6:  𝑓(𝑥) = 𝑠𝑖𝑛𝑥(𝑥2 − 3𝑥) 

    Find  𝑓′(𝑥)        Find  𝑓′(𝑥) 

 

 

 

 

Horizontal Tangents:  Set  '( ) 0f x   and solve for x.  

Example 7:  𝑓(𝑥) = √3𝑥 + 2𝑐𝑜𝑠𝑥   Find the Horizontal Tangent. 

 

How do you find a  

horizontal tangent? 


